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#

ip vpn-instance isp1

#

ip vpn-instance isp2

#

interface Vlan-interface10

ip binding vpn-instance isp1

ip address 1.1.1.2 255.255.255.0
#

interface Vlan-interface20

ip binding vpn-instance isp2

ip address 2.2.2.2 255.255.255.0
#

interface Vlan-interface100

ip binding vpn-instance isp1

ip address 192.168.1.1 255.255.255.0
#

interface Vlan-interface200

ip binding vpn-instance isp2

ip address 192.168.2.1 255.255.255.0
#

interface GigabitEthernet1/0/4
port link-mode bridge

port access vlan 10
#

interface GigabitEthernet1/0/5
port link-mode bridge

port access vlan 20
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#

interface GigabitEthernet1/0/6

port link-mode bridge

port access vlan 100

#

interface GigabitEthernet1/0/7

port link-mode bridge

port access vlan 200

#

ip route-static vpn-instance isp1 0.0.0.00 1.1.1.1
ip route-static vpn-instance isp2 0.0.0.0 0 2.2.2.1
#

PC1:

#

interface Vlan-interface1

ip address 192.168.1.2 255.255.255.0
#

ip route-static 0.0.0.0 0 192.168.1.1

#

PC2:

#

interface Vlan-interface1

ip address 192.168.2.2 255.255.255.0
#

ip route-static 0.0.0.0 0 192.168.2.1

#

ISP1EEE:

#

interface LoopBack0

ip address 100.100.100.100 255.255.255.255
#

interface Vlan-interface1

ip address 1.1.1.1 255.255.255.0

#

ip route-static 0.0.0.001.1.1.2

#

ISP2ERE :

#

interface LoopBack0

ip address 200.200.200.200 255.255.255.255
#

interface Vlan-interface1

ip address 2.2.2.1 255.255.255.0

#

ip route-static 0.0.0.0 0 2.2.2.2

#

it -

PC1:

[PC1]ping 100.100.100.100

Ping 100.100.100.100 (100.100.100.100): 56 data bytes, press CTRL_C to break
56 bytes from 100.100.100.100: icmp_seq=0 ttl=254 time=3.776 ms

56 bytes from 100.100.100.100: icmp_seq=1 ttl=254 time=1.938 ms

56 bytes from 100.100.100.100: icmp_seq=2 ttl=254 time=1.829 ms

56 bytes from 100.100.100.100: icmp_seq=3 ttl=254 time=1.906 ms

56 bytes from 100.100.100.100: icmp_seq=4 ttl=254 time=1.533 ms

--- Ping statistics for 100.100.100.100 ---



5 packet(s) transmitted, 5 packet(s) received, 0.0% packet loss

round-trip min/avg/max/std-dev = 1.533/2.196/3.776/0.803 ms

[PC1]

[PC1]PING 200.200.200.200

Ping 200.200.200.200 (200.200.200.200): 56 data bytes, press CTRL_C to break
Request time out

Request time out

Request time out

Request time out

Request time out

--- Ping statistics for 200.200.200.200 ---
5 packet(s) transmitted, 0 packet(s) received, 100.0% packet loss
[PC1]

PC2iliz:

[PC2]ping 200.200.200.200

Ping 200.200.200.200 (200.200.200.200): 56 data bytes, press CTRL_C to break
56 bytes from 200.200.200.200: icmp_seq=0 ttl=254 time=4.175 ms

56 bytes from 200.200.200.200: icmp_seqg=1 ttl=254 time=1.894 ms

56 bytes from 200.200.200.200: icmp_seq=2 ttl=254 time=2.714 ms

56 bytes from 200.200.200.200: icmp_seq=3 ttl=254 time=2.412 ms

56 bytes from 200.200.200.200: icmp_seq=4 ttl=254 time=3.112 ms

--- Ping statistics for 200.200.200.200 ---

5 packet(s) transmitted, 5 packet(s) received, 0.0% packet loss
round-trip min/avg/max/std-dev = 1.894/2.861/4.175/0.768 ms
[PC2]

[PC2]ping 100.100.100.100

Ping 100.100.100.100 (100.100.100.100): 56 data bytes, press CTRL_C to break
Request time out

Request time out

Request time out

Request time out

Request time out

--- Ping statistics for 100.100.100.100 ---
5 packet(s) transmitted, 0 packet(s) received, 100.0% packet loss
[PC2]

Bzt :

<H3C>ping -vpn-instance isp1 100.100.100.100

Ping 100.100.100.100 (100.100.100.100): 56 data bytes, press CTRL_C to

b reak
56 bytes from 100.100.100.100: icmp_seq=0 ttl=255 time=1.820 ms

56 bytes from 100.100.100.100: icmp_seq=1 ttl=255 time=1.166 ms

56 bytes from 100.100.100.100: icmp_seq=2 ttl=255 time=3.330 ms

56 bytes from 100.100.100.100: icmp_seq=3 ttl=255 time=1.155 ms

56 bytes from 100.100.100.100: icmp_seq=4 ttl=255 time=0.636 ms

--- Ping statistics for 100.100.100.100 in VPN instance isp1 ---

5 packet(s) transmitted, 5 packet(s) received, 0.0% packet loss

round-trip min/avg/max/std-dev = 0.636/1.621/3.330/0.933 ms

<H3C>

<H3C>ping -vpn-instance isp2 200.200.200.200

Ping 200.200.200.200 (200.200.200.200): 56 data bytes, press CTRL_C to
b reak
56 bytes from 200.200.200.200: icmp_seq=0 ttl=255 time=1.455 ms

56 bytes from 200.200.200.200: icmp_seq=1 ttl=255 time=1.142 ms

56 bytes from 200.200.200.200: icmp_seq=2 ttl=255 time=2.517 ms

56 bytes from 200.200.200.200: icmp_seq=3 ttl=255 time=0.516 ms

56 bytes from 200.200.200.200: icmp_seq=4 ttl=255 time=1.160 ms



--- Ping statistics for 200.200.200.200 in VPN instance isp2 ---

5 packet(s) transmitted, 5 packet(s) received, 0.0% packet loss

round-trip min/avg/max/std-dev = 0.516/1.358/2.517/0.655 ms

<H3C>

<H3C>

<H3C>

<H3C>ping 100.100.100.100

Ping 100.100.100.100 (100.100.100.100): 56 data bytes, press CTRL_C to

b reak
Request time out

--- Ping statistics for 100.100.100.100 ---

2 packet(s) transmitted, 0 packet(s) received, 100.0% packet loss
<H3C>ping 1.1.1.1

Ping 1.1.1.1 (1.1.1.1): 56 data bytes, press CTRL_C to break
Request time out

--- Ping statistics for 1.1.1.1 ---
2 packet(s) transmitted, 0 packet(s) received, 100.0% packet loss
<H3C>
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ip route-static vpn-instance isp1 0.0.0.0 0 1.1.1.1
ip route-static vpn-instance isp2 0.0.0.0 0 2.2.2.1
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